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NEASE | 47> [ -sosom | ov-sssom | §28 1) & K4 14KH 2 KB o | BEHERE| 25 = N AP EXPN
FCE% |JEfZPt. | FCEX | IEGIPt. RRT Pt-E BEIR| mE IR JIE 5z
1T |21 1 6 | B |mpFER F8 ZEKER| top 2.5 | top 1.0 1.58 1 9 |top 1 1
2 | &1 1 2 | B [ERERER &K # top 2.5 40 | 5.0 3.54 4 6 32 2 2
3 129 9 4 |FBIREXKERSEFFRDPER | &KX #X 38+ 7.0 41+ 4.0 5.29 5 5 28+ | 3 3
4 | &5 5 | 10 (B |Fehmrsmdeik BER  HX | top 2.5 46 | 2.0 2.24 2 8 25+ | 4 4
5 | 23] 3 8 | MBI E#F RN REE KX | top 2.5 44+ 3.0 2.74 3 7 25+ | 5 1
6 | 6| 6 | |5 (REEHIE s ik AN 38+ 7.0 39 | 6.0 6. 48 6 4 25 6 5
7 |E10| 10 | 5 | B |[FEMIFERE=_PFR xE B 38+ 7.0 36+| 8.5 7.71 | 8.5 1 20+ | 7 6
8 | 22| 2 7 | 8B [mIHLE=RER =i i 38+ 7.0 37 1.0 7.00 1 3 19 8 1
9 | E8)| 8 3 | B [\ TFHRMILKRFIBR/NER TEH S 38+ 7.0 36 +| 8.5 71.71 | 8.5 2 13+1] 9 2
10 |24 4 9 | /M5 (AT rE/NER F ZS 17+ 10.0| 30 |10.0 | 10.00 | 10 10 3
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NEAL |7 | msn | o-anon | 555 7] B K4 1XEB 2KH x| s N N AYZIEXEN
SC8% |JEfPt. | EC8% | JEfIZPt. R "TE i L JE 2

1 |7R14] 14 | b | |BHMILEREFER iz HE | top 4.0 | top 1.5 2.45 | 1.5 8 top 1 1 0:03:34
1 | 7519 19 | 10 | Bz |MoHE T AL AEE P IR EHE| top 4.0 | top 1.5 2.45 | 1.5 Ji top 1 2 0:03:36
3| &/ 1 11 |z |[HNHILE— PR #15 k4t | top 4.0 42 +| 4.0 4.00 4 5 40+ | 3 3

4 1F/9| 9 19 | & |FFREHER fif] &R KB | top 4.0 44 +| 3.0 3. 46 3 6 38+ | 4 4

5 | &7 7 | 17 [/hZ& [IEBEHILEEH/NER Ik BF | top | 40| 36+ 6.0 4.90 6 3 38+ | 5 1

6 | F2| 2 12 | & [MINHAIERER A izl | top 4.0 42 5.0 4.47 5 4 38 6 5

7 |FK17| 17 | 8 [Ih& | KREEHILE/NER ik B | top | 40| 32+]10.0 6.32 1 2 28+ | 1 2

8 |7R18| 18 | 9 |HZ [ENFETILFNFE AL 2 A | 45+ 8.0 33 | 8.0 8.00 | 8 1 23 8 6

9 | &3 3 13 | %k [lUEFER MR 1EE 42 +| 10.0 3b+| 7.0 8.37 9 9 1

10 |11 11 | 2 | bk [MPHIL/NERPER WA DA 43+ 9.0 [ 32+|10.0 9.49 | 10 10 8

11 |F&15] 15 6 |HP&|BIIFERERFRERPER = Y 75 41+ 11.0 32 +{10.0 10. 49 11 11 9

12 |FR12| 12 | 3 |tk [FERILEEFEKR 16/ HE 39+ 12.0 29 [13.0 12. 49 12 12 10

13| 4| 4 | 14 | & |(EBHILERRER i  tiE 33+ 145 29+]12.0 | 13.19 | 13 131 11

14 | =8| 8 18 | & | BEHFHILENPER B+t A F] 33+| 14.5 27+ 14.0 14. 25 14 14 12

15 | K5 5 15 | &z |[FERILEL K FER =3 Bz 33+| 14.5 26 15.5 14.99 15 15 13

16 |#F10] 10 | 1 [/h&[EHIEA /N mE AE 33+ 14.5| 25 [17.0 | 15.70 | 16 16 3

17 |7x16| 16 1 | & [FERILHFBERER 2% ZTHY 25 17.5 26 15.5 16. 47 17 17 14

18 |#R13| 13 | 4 | /hXk [BEFHILEHEB/NER (SN E3 25 17.5 15+119.0 18.23 18 18 4

19 | 6| 6 16 | /hZ& |SEET/INEERR BTH EESS 16 19.0 19+,18.0 18. 49 19 19 5
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